Aufgabe 1

Integrate [Xx * S n[x], X]
-X s [x]+SNn[x]
Integrate [x * Sn[x”"2], x]
1

= s [x?]

2

Integrate [Xx / (1 +x"2), X]
1

— Log[1 +x2]

2

Integrate [(1+Xx)/ (1-Xx), X]
-X -2 Log[l-x]
Integrate [s*E~s" 2, s]
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Integrate [t "2 +xE~t, t]

et (2-2t +t2)

Aufgabe 3
fIx_ ]1:=x"3+x"2-2x

= Ableitungen

f'x]
f'rIx]
frrx]
fron[x]
-2+2x +3x?
2+6 X

6

0
= Nullstellen
Solve [f [x] =0, Xx]
{{X >-2}, {Xx >0}, {Xx >1}}
Nullstellen bei x1=-2, x2 =0, x3=1
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Extremwerte

Solve [f' [x]=0, Xx]
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{{x - -1.21525}, {x — 0.548584}}
1[5 (V7))
2+2 (—1—\/7)

% <0

N[%]

FuIIS'rrplifY[f[é (-1-v7)]]
2 (10+7 \F)

27
N[%]
2.11261
_ (1 2
Maxi mum bei (5 (-1-7), p (10+7\/7))

5 2eT)]
2+2 (-1+\/7)

% >0

FullSimpl iy [ [é (-1+vT7)]]
ENP

27
N[%]
-0.63113

Minimumbei((% (717\/7), 2 (10+7ﬁ))
Wendepunkte
Solve [f'' [x]=0, x]
1

(x--2)

f'''[-1/3]
6



f[-1/3]
20
27
Wendepunkt bei (-1/ 3, 20/ 27)
f'r-173]
7

3

Full Splify [Solve [-7/3% (-1/3) +d =20/27, d]]

1

({a--2))

Wendetangentey =-7/3x-1/ 27

Graph

Plot [{f [X], -7/3 x -1/27}, {x, -3, 3}]
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